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" 'I'm not looking for your treasure,' Greg answered, smiling, '[f
you have one.' " Why doesn't Greg believe that Lemon Brown has a

4.

treasure? Give information from the story to support you answer.

(10 points)

For this question, choose ONE of the thinking skills from the Appendix (nov))

on page 12 OR any thinking skill studied in class. Use this thinking

skill when answering the question. (10 points for the content of the

answer, 5 points for the correct use of the thinking skill)

At the end of the story, Lemon Brown says to Greg, " You OK for a

youngster." Why does Lemon Brown's opinion of Greg change from

the beginning to the end of the story?

Thinking sKill I chOSe: ......cocueriiiiiiiiiiiiiiiieeee

" (15 points)
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After Mr. Kelada examined the pearl necklace, Mrs. Ramsay looked (-).

(6 points)

10. For this question, choose ONE of the thinking skills from the Appendix (nov))

on page 12 OR any thinking skill studied in class. Use this thinking

skill when answering the question. (10 points for the content of the

answer, 5 points for the correct use of the thinking skill)

Why does Mr. Kelada decide to lose the bet with Mr. Ramsay? Give

information from the story to support your answer.

Thinking sKill I chOSe: ......cociiviiiiiiiiiiiiiieecece e

(15 points)
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is different from the one he can get in school

reads all the books on his list

Books from the library
iv) is like the education Mr. Cattanzara got

treat him nicely. As a result, George (-).

)

hundred books? An education that (-).
ii)  will help him succeed in school

i)

ii) Sophie's magazines

iii) The New York Times

iv) School books

iii) will let him help his family
ii) feels better about things

iii) goes to the park more often
iv) enjoys being with his friends

)

12. What kind of education does George think he will get if he reads a
13. After George tells Mr. Cattanzara he is reading books, people start to

11. What does George read at the beginning of the story?

A SUMMER'S READING / Bernard Malamud

Answer questions 11-15.

NoDI +414,016115’01 ., TYIN .0”’ywn Y'P .MIOD POIN
C.




read a hundred books. What is Mr. Cattanzara trying to do for George
by asking this question? Give information from the story to support your

At the end of the story, Mr. Cattanzara asks George about his having

skill when answering the question. (10 points for the content of the
Thinking sKill T ChOSE: ......cccueiiiiiiiiiiieieeeee e

answer, 5 points for the correct use of the thinking skill)

answer.

(15 points)
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PART III (15 points)
Answer the question for either (16) Thank You, M'am OR (17) The Road Not Taken.
we can learn the lessons of life through nature." — Robert Frost's biography

Make a connection between the above quote and the story. Give information
"Robert Frost liked to use nature in his poems. Sometimes his poems look
very simple but in fact they can have an important message for us. He felt that

difficult our personal situation may be, it's probably a situation that can be
changed and improved with acts of kindness." — http://americanliterature.

"Langston Hughes helps us see that we are the same and that no matter how

com/author/langston-hughes/short-story/thank-you-mam
Make a connection between the above quote and the poem.

THANK YOU, M'AM / Langston Hughes
THE ROAD NOT TAKEN / Robert Frost

from the story to support your answer.

Suggested length: 60-80 words.
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APPENDIX TO PARTS I and II
Thinking Skills

e Comparing and contrasting

o Distinguishing different perspectives
o Explaining cause and effect

e Uncovering motives

e Inferring

o Explaining patterns
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